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5.23 x 60% = 0.55 x 60% =

3 x 80% = 6.54 x 60% =

0.55 x 20% = 8.9 x 50% =

6.9 x 70% = 4.48 x 70% =

1.49 x 40% = 9.98 x 70% =

6.92 x 10% = 5.84 x 20% =

1.97 x 40% = 5.26 x 20% =

6.45 x 40% = 5.94 x 90% =

4.48 x 10% = 7.05 x 90% =

6.48 x 20% = 9.51 x 40% =
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5.23 x 60% = 3.138

3x80% = 2.4

0.55 x20% = 0.11

6.9 x70% = 4.83

1.49 x 40% = 0.596

6.92 x 10% = 0.692

1.97 x 40% = 0.788

6.45 x 40% = 2.58

4.48 x 10% = 0.448

6.48 x 20% = 1.296
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0.55 x 60% = 0.33

6.54 x 60% = 3.924

8.9 x 50% = 4.45

4.48 x70% = 3.136

9.98 x 70% = 6.986

5.84 x20% = 1.168

5.26 x20% = 1.052

5.94 x 90% = 5.346

7.05 x 90% = 6.345

9.51 x40% = 3.804
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